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428 769 853 682 378

If all the numbers are arranged in descending order,
what will be the difference between the second digit
of third number and first digit of second number?
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b) 1
CEE
d 4

e¢) None of these



428 769 853 682 378

If one is subtracted from the first and second digits of
each number. What will be difference between the
first digit of the highest number and the first digit of
the lowest number?

afe Tedreh TEAT o Uget SR GAL 3ieh H & Ueh et foar
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a 2
b) 3
c) 4
d 35
e) None of these



428 769 853 682 378

If in each number the first and the second digits are
interchanged, which number will be the second
highest number?

TS Tedeh AT H YT 3R SO 37k 3799 § 95
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a) 853

b) 769
¢) 378
d) 682

e¢) None of these



428 769 853 682 378

If in each number, the first digit is replaced by the
third digit, second digit is replaced by the first digit
and third digit is replaced by the second digit then
which number will be the second highest?

S Tk BT H, Ugel 31k ohl dTE 31k 0, A 3ieh
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a) 378
b) 769
c) 682
d) 428
e) None of these



428 769 853 682 378

If in each number all the digits are arranged in
ascending order, which number will be the second

lowest?

aﬁ{u@mmﬁmﬁ&mﬁaﬁaﬂﬁﬁwﬁmﬁ%
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a) 428
b) 682
¢) 853
d) 378
e¢) None of these



Six persons are sitting around a triangular table. Persons
who are sitting at corner are facing towards the table and
the persons who are sitting at middle of the table are facing
outside the table. A sits at one of the corners of the table. M
is an immediate neighbour of A. Two persons sit between M
and B. C sits immediate right of B. N is to the immediate
right of O. O does not sit at any of the corner of the table.
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Six persons are sitting around a triangular table. Persons
who are sitting at corner are facing towards the table and
the persons who are sitting at middle of the table are facing
outside the table. A sits at one of the corners of the table. M
is an immediate neighbour of A. Two persons sit between M
and B. C sits immediate right of B. N is to the immediate
right of O. O does not sit at any of the corner of the table.
Who sits second to the right of B?

(a) M
(b) A
() N
(d) O
(e) C



Six persons are sitting around a triangular table. Persons
who are sitting at corner are facing towards the table and
the persons who are sitting at middle of the table are facing
outside the table. A sits at one of the corners of the table. M
is an immediate neighbour of A. Two persons sit between M
and B. C sits immediate right of B. N is to the immediate
right of O. O does not sit at any of the corner of the table.
Who is sitting between A and N when counted from the right
of A?

(a) C
WA
()0
(dM
(e) None of these



Six persons are sitting around a triangular table. Persons
who are sitting at corner are facing towards the table and
the persons who are sitting at middle of the table are facing
outside the table. A sits at one of the corners of the table. M
is an immediate neighbour of A. Two persons sit between M
and B. C sits immediate right of B. N is to the immediate
right of O. O does not sit at any of the corner of the table.
Who sits immediate left of N?

a)M
(b) C
(c) O
(d) B
(e) None of these



Statements:

All Creta are Cruz

Some Cruz are Eon

All Eon are Black

Conclusions:

I. Some Cruz are Black.

II. No Black is Creta.
II1. Some Creta are Eon.

a) Only conclusion I follows.

b) Either conclusion II or III follow.
¢) Only conclusions II and 111 follow.
d) Either conclusion I or III follow
e) None of these '



Statements:

No Flower is Vegetable.

All Vegetable are Egg.

Some Flower are Fruit.

Conclusions:

I. All Egg are Vegetable.

I1. Some Fruit are Vegetable.
II1. No Fruit are Vegetable.

a) Only conclusion I follows

b) Only conclusion II follows

¢) Only conclusion III follows

d) Either conclusion II or III follows
e) None of the conclusion follows



Statements:

No Black is Red.

No Red is Yellow.

Some Yellow are Green.

Conclusions:

I. Some Green are Red.

I1. No Black is Yellow.
I11. All Red are not Black

a) Only conclusion I follow
b) Only conclusion II follow
¢) Only conclusion III follow

d) Either conclusion II or III follow
e) Either conclusion I or II follow



Eight persons A, B, C, D, E, F, G and H are sitting in a
horizontal row. Four of them face north while rest face south.
‘Not more than two adjacent persons face in the same direction.
A sits second to the left of D. F sits to the immediate left of H. D
and F are adjacent to each other. C is not adjacent to A but
faces south. The number of persons to the left of A is one more
than the number of persons to the right of him. B sits second to
the left of G and both face in the same direction. C does not sit
at extreme end. The person at extreme end face in the same-
direction.
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Eight persons A, B, C, D, E, F, G and H are sitting in a
horizontal row. Four of them face north while rest face south.
Not more than two adjacent persons face in the same direction.
A sits second to the left of D. F sits to the immediate left of H. D
and F are adjacent to each other. C is not adjacent to A but
faces south. The number of persons to the left of A is one more
than the number of persons to the right of him. B sits second to
the left of G and both face in the same direction. C does not sit
at extreme end. The person at extreme end face in the same
direction.

Who sits immediate right of C?

a) G
b) B
¢) A
d E
e) F



Eight persons A, B, C, D, E, F, G and H are sitting in a
horizontal row. Four of them face north while rest face south.
Not more than two adjacent persons face in the same direction.
A sits second to the left of D. F sits to the immediate left of H. D
and F are adjacent to each other. C is not adjacent to A but
faces south. The number of persons to the left of A is one more
than the number of persons to the right of him. B sits second to
the left of G and both face in the same direction. C does not sit
at extreme end. The person at extreme end face in the same
direction.

Four are the same in a certain way thus forms a group. Which
among the following does not belong to the group??

a) B
b) H
¢) D
d G
e) A



Eight persons A, B, C, D, E, F, G and H are sitting in a
horizontal row. Four of them face north while rest face south.
Not more than two adjacent persons face in the same direction.
A sits second to the left of D. F sits to the immediate left of H. D
and F are adjacent to each other. C is not adjacent to A but
faces south. The number of persons to the left of A is one more
than the number of persons to the right of him. B sits second to
the left of G and both face in the same direction. C does not sit
at extreme end. The person at extreme end face in the same
direction.

How many persons sit to the right of E?

a) Three
b) Four
¢) One
d) Five
e) Six



Eight persons A, B, C, D, E, F, G and H are sitting in a
horizontal row. Four of them face north while rest face south.
Not more than two adjacent persons face in the same direction.
A sits second to the left of D. F sits to the immediate left of H. D
and F are adjacent to each other. C is not adjacent to A but
faces south. The number of persons to the left of A is one more
than the number of persons to the right of him. B sits second to
the left of G and both face in the same direction. C does not sit
at extreme end. The person at extreme end face in the same
direction.

Who sits second to the right of G?

a) E
b) D
¢) F
d) H
e) C



Eight persons A, B, C, D, E, F, G and H are sitting in a
horizontal row. Four of them face north while rest face south.
Not more than two adjacent persons face in the same direction.
A sits second to the left of D. F sits to the immediate left of H. D
and F are adjacent to each other. C is not adjacent to A but
faces south. The number of persons to the left of A is one more
than the number of persons to the right of him. B sits second to
the left of G and both face in the same direction. C does not sit
at extreme end. The person at extreme end face in the same
direction.

Who sits immediate left of G?

a) B
b) C
¢c) D
d F
e) H



Statements:

B>AZ2T2S; T<K=PSM
Conclusions:

I.S=K

I. S<P

M. A>M

a) Only Lis true

b) Only Il is true

¢) Only III is true

d) Either I or 111 is true

e) None is correct:



Statements:
M<D=N;X=YSLSE;YSD
Conclusions: :

LEZ2N

ILXSD

MMI.N2X

a) Only Lis true

b) BothI and II are true

¢) Both II and III are true
d) Neither II nor III is true
e) Both I and III are true



Statements:

D=0, E=X<M, M>Q>02K
.Conclusions: :

I.M>D

II.LE>K

NI.KZ2D

a) None is True

b) OnlyI and II are True
¢) OnlylIlis True

d) Onlylis True

e) Either I or III is True



Eight persons — E, F, G, H, I, J, K and L are sitting around a circle at
equidistance but not necessarily in the same order. Some of them are
facing towards the centre while some others are facing outside the
“centre. L is sitting 3rd to the left of K. Both K and L are facing
towards the outside. H is not an immediate neighbor of K and L. J
faces just opposite direction of H. (It implies that if H is facing
towards the centre, J would face outside the centre). J is sitting 2nd
to the left of H. Both the immediate neighbours of G face just
opposite direction of G. E is an immediate neighbour of K. Both the
immediate neighbours of H face just opposite direction of H. E faces
towards the centre and he is an immediate neighbour of both K and
I. I faces towards the centre.
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Eight persons — E, F, G, H, I, J, K and L are sitting around a circle at
equidistance but not necessarily in the same order. Some of them are
facing towards the centre while some others are facing outside the
centre. L is sitting 3rd to the left of K. Both K and L are facing
towards the outside. H is not an immediate neighbor of K and L. J
faces just opposite direction of H. (It implies tHunt if H is facing
towards the centre, J would face outside the centre). J is sitting 2nd
to the left of H. Both the immediate neighbours of G face just
opposite direction of G. E is an immediate neighbour of K. Both the
immediate neighbours of H face just opposite direction of H. E faces
towards the centre and he is an immediate neighbour of both K and
I. I faces towards the centre.

Who amongst the following are not facing towards the centre?

a) E,Fandl
b) F,GandJ
¢) H,KandL
d) G,IandJ

e) None of these



Eight persons — E, F, G, H, I, J, K and L are sitting around a circle at
equidistance but not necessarily in the same order. Some of them are
facing towards the centre while some others are facing outside the
centre. L is sitting 3rd to the left of K. Both K and L are facing
towards the outside. H is not an immediate neighbor of K and L. J
faces just opposite direction of H. (It implies tHunt if H is facing
towards the centre, J would face outside the centre). J is sitting 2nd
to the left of H. Both the immediate neighbours of G face just
opposite direction of G. E is an immediate neighbour of K. Both the
immediate neighbours of H face just opposite direction of H. E faces
towards the centre and he is an immediate neighbour of both K and
I. I faces towards the centre.

Who among the following is sitting exactly between F and K?

a) J
b) 1
¢) E
d G
e) H



Eight persons — E, F, G, H, I, J, K and L are sitting around a circle at
equidistance but not necessarily in the same order. Some of them are
facing towards the centre while some others are facing outside the
centre. L is sitting 3rd to the left of K. Both K and L are facing
towards the outside. H is not an immediate neighbor of K and L. J
faces just opposite direction of H. (It implies tHunt if H is facing
towards the centre, J would face outside the centre). J is sitting 2nd
to the left of H. Both the immediate neighbours of G face just
opposite direction of G. E is an immediate neighbour of K. Both the
immediate neighbours of H face just opposite direction of H. E faces
towards the centre and he is an immediate neighbour of both K and
I. I faces towards the centre.

What is the position of G with respect to E?

a) 2nd to the left
b) 3rd to the right
c) 4th to the left
d) 2nd to the right
e) Sth to the right



Eight persons — E, F, G, H, I, J, K and L are sitting around a circle at
equidistance but not necessarily in the same order. Some of them are
facing towards the centre while some others are facing outside the
centre. L is sitting 3rd to the left of K. Both K and L are facing
towards the outside. H is not an immediate neighbor of K and L. J
faces just opposite direction of H. (It implies tHunt if H is facing
towards the centre, J would face outside the centre). J is sitting 2nd
to the left of H. Both the immediate neighbours of G face just
opposite direction of G. E is an immediate neighbour of K. Both the
immediate neighbours of H face just opposite direction of H. E faces
towards the centre and he is an immediate neighbour of both K and
I. I faces towards the centre.

How many persons are sitting between H and K when counted in a
clockwise direction from H?

a) Three
b) Four
¢) Five
d) Two

e) One



Eight persons — E, F, G, H, I, J, K and L are sitting around a circle at
equidistance but not necessarily in the same order. Some of them are
facing towards the centre while some others are facing outside the
centre. L is sitting 3rd to the left of K. Both K and L are facing
towards the outside. H is not an immediate neighbor of K and L. J
faces just opposite direction of H. (It implies tHunt if H is facing
towards the centre, J would face outside the centre). J is sitting 2nd
to the left of H. Both the immediate neighbours of G face just
opposite direction of G. E is an immediate neighbour of K. Both the
immediate neighbours of H face just opposite direction of H. E faces
towards the centre and he is an immediate neighbour of both K and
I. I faces towards the centre.

Which of the following statements is not true regarding the given
sitting arrangement?

a) L is sitting exactly between G and 1.
b) His sitting 3rd to the right of K. |
¢) F and I are sitting just opposite to each other.

d) E is sitting 3rd to the left of G.
e) Allare true
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